M U LTI B R A CKET S

Technical Summary

Small wall plate
EAN: 7350073734184

COMPONENT CHECKLIST
Item Name QTY
A Wall Plate 1
B M8 x 12mm Screw 4
C M8 Washer 4
D M8 Nut 4
E M8 Washer 2
F Coach Screw 2
G  Plastic Anchor 2
H  5mm Allen Key 1

PRODUCT DIMENSIONS

A 150'25023;”] 18.50mm
8.5mm
& 4 *r B
B C D E 185.00mm E 8 72mm
|
o7l |
59.00mm i
125mm
INSTALLATION INSTRUCTION
1. Insert sliding nuts 2. Attach plate to rail 3. Fix to wall

\
\
\
N
\
\

a. Brick or concrete




